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CEB11 63487

MULTIPLE CHOICE QUESTIONS
SUBJECT : MATHEMATICS
FULL MARKS : 80

(Each question carries on¢ mark.)
(English Version)

The eccentricity of t.'ne hyperbola 4x2 — 9y? = 36 is

A L AT o, oD iy

3 3 3

The length of the latus rectum of the ellipse 16x2 + 25y2 =400 is
A. 5/16 unit B. 32/5 umt C.  16/5 unit D. 5/32 umt

The vertex of the parabola y> + 6x -2y + 13 =0 s

A (L1 B. (=2,1) C. @1) D, [—%,1)

The coordinates of a moving point p are (22 + 4, 4t + 6). Then its locus will be a
A. circle B. straight line C. parabola - D. ellipse

L

The equation 8x? + 12y% — 4x + 4y — 1 = 0 represents
A. anellipse B. ahyperbola C. aparabola D. acircle

If the straight line y = mx lies outside of the circle 3@ + y* — 20y + 90 = 0, then the value of
m will satisfy | '

A. m<3 B. fim|<3 C. m>3 D. Im|>3

The locus of the centre of a circle which passes through two variable points (a, 0), (-a, 0) is
A, x=1 B. xty=a - C. xty=2a D, x=0

The coordinates of the two points lying on x + y = 4 and at a unit distance from the straight
line 4x + 3y = 10 are ; |

A (3 1).001) B. @(1)%11) C G D@1 D (5:3),1,2

2
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12.

13.

14.

16.

17.
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The intercept on the line y = x by the circle 22 + y2 — 2x =0 is AB. Equation of the circle
with AB as diameter is )

A 2+yi=1 B. x(x-D+yy-1=0

C: x+y=2 , D. (x=-Dx-2)+(y-1(y-2)=0

If the coordinates of one end of a diameter of the circle’
4y +4x -8y + 5=0is (2, 1), the coordinates of the other end is
A, (-6,-7) B. (6,7) : C. (-6,7) D. (7,-6)

It th; tl'l_n:u points A(1, 6), B(3, - 4) and C(x, y) are collingar then the equation satisfying by
xandy is

A, 5x+y-11=0 B. 5x+13y+5=0
C. 5x-13y+5=0 D. 13x-5y+5=0
It sillfi:% and © ies in the second quadrant, then cos © is equal to
1-¢2 2 -1 -1 - 1+
A B L P ST ' |1-¢2|

The solution set of the inequation cos™ x < sin~!x is
1 1
Ar_ [-11] B. [v; - 1] C.: [0:1] D. [@-’f ]

The number of solutions of 2 sinx+cos x=3 is
R | e C. infinite D. No solution

a | )
Let tan 0= —= andlanﬂ:za._ulhnnu-i-ﬁm

A, w4 e B. w3 C. n? D. =

0+ ¢ =4 then (1 +1an 0) (1 +1an ¢) is equal 10
A1 . £ 2 D. 13

if sin 6 and cos @ are the roots of the equation ax” — bx + ¢ =0, then a. b and ¢ satisfy the
relation

A, a?+b%+2ac=0 B. -a?2-b*+2ac=0
C. a2+c¢2+2ab=0 D. a’-b*>-2ac=0

3 P.T.O.
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If A and B are two matrices such that A + B and AB are both defined, then
A. A and B can be any matrices | -

B. A, B are square matrices not necessarily of the same order

C. A, B are square matrices of the same order

D. number of columns of A = number of rows of B

{3 AN _ . . : :
If A [ 2 43 b2 ) 15 4 symmetnc matrix, then the value of x 1s

A 4 B. 3 C. -4 D, =3

‘ 1 1+2i 51 |
fz=]1-21 =3 5+3‘i~,then(i=xl—l)

S 5-31 7
A. zis purelyreal B. zis purely imaginary
C. z+zZ=0 D. (z-Z%)iis purely imaginary

The equation of the locus of the point of intersection of the straight lines
xsin®+(l —cos®)y=asinfGand xsin®- (1 +cosB)y+asin0=01s

A. y=tax B. x=zay C. y=dax D. x2+y*=a’

If sin © + cos @ =0 and 0 < 0 < 7, then § =

A 0 B.E C.

SE]
o
&

The value of cos 15° —sin 15° is

A0 B‘J% ey

<l
o
-

The period of the function f{x) = cos 4x + tan 3x is

x x n
A, n B. 2 C¢ 3 D. 4
Ify=2x>—2x? + 3x - 5, then for x = 2 and Ax = 0.1 the value of Ay is
A, 2002 B: 19 C. 0 0.y
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The approximate value of gJﬁ correct to 4 decimal places is

A.  2.0000 B. 2.1001 . G 20128 D. 2.0500
2

The value uff (xcosx+sinx+1)dxis
2

A2 B. 0 C. -2 D. 4

For the function f{x) = e®S*, Rolle’s theorem is
3n

A. apphcab]e when = <x< 5 B. applicable when 0<x {5
C. applicable when0<x<n o D. applicable when-:{ <x ﬂug-

The general solution of the differential equation

A2 _ '
d—x+8%+ 16y=01s

dx? :
A (A+Bxe™ - B, (A+Bye®™ C. (A+Be® D, (A+Bek

162 +y? =4, theny & +x -

A. 4 B. 0 Ga ] : | B S, |
¢ 2dx I

1 +x%
A. dtan' ¥ +¢ B, %tan‘lx"'+c
C. x+4tanlx?+e¢ D. x2+% tan~! x4 +¢
16n
f]sinx{dr—‘-
A 0 B 32 C. 30 D 28

5 P.T.O.
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33. The degree and order of the differential equation

34,

35.

36.

37.

2 2
y==x [gxx] + (%) are respectively

A L1 B. 2,1 C

, X= 0
f(")”{ 3, x>0

The function f(x) is

A. increasing whenx 20 :

B. strictly increasing when x > 0
C. strctly increasing atx =0 )
D

4,1 D. 1,4

not continhuous at x = 0 and so it is not increasing when x > 0

A a>0 | B. a<0 ' C.
J‘cust
COS X
2sinx +logsecx+tanx |+ C B.
C. 2sinx-—loglsecx+tanx|+C D.
J’ in®x — cos®x o
| - 2 sin’x cos>x

1

A -=%ndx+C B. ‘—sinZx+C C.

2 2

‘The function f(x) = ax + b is strictly increasing for all real x if

a=0 D a0

2sinx—log|secx—tanx|+C
2sinx +loglsecx—tanx |+ C

e .
25111.1‘4'(3 D. —251nx+c

38. The general solution of the differential equation'log,ﬁ(%) =x+yis

39.

A &+eY=C B. e&+e¥=C

A a2 g oG
Ify_x+Bx ,thenxzdxl__

A 2y

C e&+e*=C D.

B. y? o

e*+e¥=C

collegedunia:

India’s largest Student Review Platform



63487

40. If one of the cube roots of 1 be @, then

41.

42,

43.

45.

1 I+q_}2 @2 .
1-i -1  o*=1]|=
- -1+t -l
A © Br/ 3 G | ¢ D. 0

4 boys and 2 girls occupy scats in a row at random. Then the probability that the two girls
occupy seats side by side is '

1 1 c 4 1
A 5 B. 3 C. 3 D. %

A coin is tossed again and again. If tail appears on first three tosses, then the chance that
head appears on fourth toss 1s '

| 1 1 1
A. 16 B- 2 C. 8 D. 4
. : T
The coefficient of x" in the expansion of ax s
r )
n-1_¢ nn-=1 n-1_on-1 n_9n f n o4 (—92)M
A 4 (- 2) 8 4 2 c 4n 2 - 4 +(-2)
o o o o

The sum of the series

T N
i9 Da 44 o =8 '

A 2log2+1 B. 2log2 C. 2log2-1 D. log2-1

The number (101)!% — 1 is divisible by
A. <104 B. 10° Cc. 108 D. 1042

46. If A and B are coefficients of x in the expansions of (1 + x)*" and (1 +x)?* ! respectively,

then A/B is equal to
A 4 B. 2 C 9 D. 6

7 P.T.0.
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Ifn>1 is an integer and x = 0, then (1 +x)"— nx— 1 is.divisible by
A. nx’ B. n’x . = D, nx

If °C,, "C, and "C are in A.P., then n is
A. Torl4 B, 3 C. 14 D. 14o0r2l

The number of diagonals in a polygon is 20. The number of sides of the polygon is
VA B. 6 C. 8 D. 10
A0 28 B.. 24-15 C. 24415 Dis 25d

Let a, b, ¢ be three real numbers such that a + 2b + 4¢ = 0, Thmtheequa;tlun

ax’ +bx+c=0

A.  has both the roots complex . B. hasits roots lying within -1 <x <0
1 R x

3 hasnneﬂfthemutsequaltu‘i' - D. hasits roots lying within 2 < x <6

If&lemhnufthemtsuftheaquanunpxz+qx+r—[}ma b, thsn( -::;)2
a

Pq
D. <

- P pr
Ao B, 2 c

2R

If o and P are the roots of the equation x? +x+l =0, then the equation whose rdots ‘dre
IdeB? '

A x*-x-1=0 B. 2—x+1=0 c.~ 2+x-1=0 D. R+x+1=0

.. For the real parameter t, the locus of the complex number -

cz=(1-B)+i\1+£

in the complex planeis =
A. anellipse B. aparabola .C. acircle D. ahyperbola

: gcollegedunias
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l : .
Ifx+7=2cos B.thenfuranyintegern,x"-g-l:

D. the angles are in H.P.

21 sin nB

220 + 1)

S
A. 2cosnb B. 2sinn® C. 2icosnf
If +# 1 is a cube root of unity, then the sum of the series
S=1+20+30+ +3nw* - is
3n w-1
A. g B. 3n(w-1) C. 3n
If logyx + log,y = 2 + log;2 and log,(x + y) =2, then
AL x=1y=8 B. x=8,y=1 C. x=3,y=6
If log, 2 = A, then the value of log,, (28) is
A, (2A+1) B. (2A+3) C. -;-(2}.-!-1)
a2 . a .
The sequence log a, log ~— log =5+ -+ is
b b
A. aGP. B. an AP
C. aHP D. bothaG.P.and a HP.
If in a triangle ABC, sin A, sin B, sin C are in A.P., then
A. the altitudes are in A.P. B. the altitudes are in -H.P.
C. the angles are in A.P.
a b-c c-a
b-c c-a a-b |=
c-a a—-b b-c
A. 0 I ¢ i
9

P.T.O.
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A. ¢** B. log(i+x) C. 1+
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The area enclosed between y2 =x and y = x is

1 1

ol . | : 1 . . .
A 3 5q. units B. 5 84. units C. 3 %9 units D. ¢ 5a- units
Let fix) = x> €%, x > 0. Then the maximum value of f{x) is
A e B. 3¢3 C. "27¢? D.
The area bounded by y* = 4x and x? =4y is
A. - -2-39 sq. unit B. 1—36- sq. unit C; -135 $q. umt D. % §q. unit

The acceleration of a particle starting from rest moving in a straight line with uniform
acceleration is 8m/sec”. The time taken by the particle to move the second metre is

A ¥lee B 2ilsec € (+\Dsec D (2-1)sec
The solution of

dy _y Y.

ax Jc-frtzmx_ls

A. x=csin(yx) B. ‘x=csin(xy) C. y=csin(yx) D. xy =c sin (x/y)

Integrating Factor (LF.) of the differential equation

dy 3x° _ sin’x .
GTT+0 Y 14x

o
:'_
o

The differential equation-of y = ae® (a & b are parameters) is
A Wﬁ)’% B. Wz“ﬁ C. YY?':Y: D. Wg:b’:

10
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The value of

fip _$a 1P
1m
n —at r=1r4+n415

1

| 1

A. -Zvlr:ngg (1/2) B. zloge (1/2) C... ZlugCZ D Eluge 2

TEI.
The value of | sin®® x cos® xdx is

?
A. 0 B. n/4 ' C. w2 D. 1
J 25(f"(x) + f(x) log 2) dx is
A 2’; £x) +C B. ¥ 2 fix) wl
C. 2t (log 2)f(x)+ C D. (log?2) fix)+C
Let f(x) = tan™! x. Then f'(x) + {"'(x) is = 0, when x is equal to
A. 0 B. +] Es 1 D. -i

|+ x> -1
Ify=tan ' M1 TX — " theny'(1) =

3 X
A 14 B. 1/2 cC. -1/4 D. -1/2
: +x2+ - +x"-n
The value of _J‘f’, = —— 1S
n+1 n(n+1) nn—1
11 P.T.O.
— e g collegedunia:
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I al'®
Hm Sib (7T sm-x)

75. x=—=0 t"!

L B.- 3n C. 2n D =

76. If the function

R-(A+Dx+A
flx) = 3 forx=2
2 forx=2

Is continuous at x =2, then

A A=0 B. A=1 C. A=-1 D. A=2

77, [x] +[-x], whenx=2
B = ! A when x =2

If f{x) is continuous at x = 2, the value of A will be |
A -1 B. 1 C. 0 D, 2

78. The even function of the following is

a‘+a" -+ 1
A. f( = B, =
%)= a¥-a™> ) eF—1
C. fx)=x- :A;: D.  fx)=log, (x+2+1)

79. Iff(x+2y, x—2y) =y, then f(x, y) is equal to

1 1= ; .
T B. 2&-¥) € #-® D L+ >

80. The locus of the middle points of all chords of the para'bnh ¥ = 4ax passing through the
~ vertex is

A. astraightline B. anellipse <. apm'ﬁbel'_a D. acircle

-~ Mcollegedunia
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(Bengali Version)

4x2 — 9y? = 36 *RRSHI RS TR

3 3 3

16x2 + 25y2 = 400 Toray e sraa ol

A 516 939. B. 32/549%% C. 16/595%9 D. 5/3295%%

y2 +6x - 2y + 13 = 0 wiqSa MY e 2=

% B. (-2,1) C. @-1) D. [—%,'1)

aasﬁ?wﬁihaﬁ'ﬁp-amtﬁ(ztzﬂ,«w].mﬁﬁ-ﬂhwmwﬁmaﬁ
A T B. S@eEdl C. RS D. %@

8x2 + 12y2 - 4x + 4y — | = 0 Sz e IR
A. 430 Oqe B. gafisage C wIbafge D. IS

T y = mx SR 22 + y2 — 20y + 90 = 0 JEF I TIHT I, U@ m~aF I W
A. m<3 B. |m|<3 C. m>3 'D. |m|>3

z%qﬁqﬂa&q(a,ou-m)ﬁmmmwmmmmﬂwm
As"x=1 B. xt+ty=a C. x+y=2a D. x=0

x+y=4mﬁ@‘f§mﬁ@Nﬁﬁiﬁh+3y=lﬂww@&$ﬁmw,m

®AE Al

A. (_35 1): (7-! 11) B (35 1)! (""?1 11) C (3: l)r (71 11) D. {5: 3): ("'1: 2)

13 P.T.O.
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X2+ y?—2x =0 ST W y = x 5957 @7 Toa (@@ AB T, AB S5 @IS IS 4G

T ST TR
A. x+y2=] B. x(x-1)+yy-1)=0
C. x2+y2=2 D. (x-1)(x-2)+(y-1)(y-2)=0

X+ y' +dx - 8y + 5 = 0 qafba 9ol Iow 3B AR TR W (2, 1) W, oW W
AR~ 7= TR

A 6= B. (6,7 C. (-6,7 D. (7,-6)
A(1, 6), B(3, - 4) 9 C(x, y) [ f&f6 siwvay; o x 922 y ficw B siltoaof® oo

A. Sxt+ty-11=0 B., S5x+13y+5=0
C.. 5x-13y+5=0 D. 13x-5y+5=0

. 2t
nﬁsme=l—+;5 T 9R 6 [l 6PARTT T O cos O 97 NI 3@

1-¢2 e | — 1 =¥ 2
'Y 11t I+t
1+12 B. 1+¢2 C. 1+t2 B, |1 -]

cos™'x < sin™'x WWSIBT SRR B 7=
A [-1,1] B. [ﬁ 1} 'C. [0,1] D. (j; 1]

25inx+cusx=3—~ﬂ3m‘ﬁwmﬂn
o’ B. 2 C. Ry D. &N s @3

Wi 1
Hﬁ'tanu—a+1@&mm5=za+lﬁ,mu+ﬂﬁmm
A n/4 B. n/3 C. Tin2 D.j =

uﬁa+¢=m¢w.m(l+m9)(1+m¢)aama:*w
A ] B. 2 C. 50 D. 13

I sin 6 932 ms,aﬁ—m+c=ommw,wmbau c % s
A, a?+b2+2ac=0 B. a?2-b2+2ac=0

C. a?+c2+2ab=0 D. a?-b2-2ac=0

14
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i A 93¢ B 999 5 Wiis 70 o A + B 4R AB SUmE RS, o1
A. A9 BE ®F NN [0 A -,

B. A,B T 5% 3o s wiowm Wi s A8 30O o

C. A, BT s gt 3o wifbs

D. A Wiftters &®g syl = B Wiwg wife s

3 x—1
ﬂﬁA=(h+3-x+2)aﬁﬁﬁmmﬁww,mxmmw
A 4 B. 3 . C. -4 D. -3
1 142 -5i
fz=|1-2 -3 5+3i |, w@(=-1)
5 5-3i 7
A,  z% 93 RoF I san B. z % 499 [oF ImAS s
C. z+z=0 D. (z-7%)i% 996 on swls ma

xsin® + (1 - cos @) y=asin® 9 x sin ©— (1 + cos 8) y + a sin @ = 0 ST 767 C2A
A. y=tax B. x=tay L. y2=il_ax D. 2+y*=a

fMsin0+cos0=09R 0<0<n%TH, TRO=

A 0 8. 2 e p. =
cos 15° -sin 15° 99 99 39

; . o iy
A, 4 0 B. ﬁ C. ﬁ D. 2@

f{x) = cos 4x + tan 3x TAFIHI FLW (period) T

n n n

it y=23 - 232 +3x— 5 TW, OW@ x = 2 GR Ax = 0.1 9 GAr Ay 97 TH W
A.  2.002 B. 19 € 9 D. 09

15 ; P.T.O.
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{
26. 33 97 WIS 4 W A TS AT T

A.  2.0000 B. 2.1001 C. 20125 D. 2.0500

2 a
27. J.(xcnsx+nx+l)druﬂ§ﬁﬁ

- ' _ .

A 2 B. 0 £, - D. 4
28.  fix) = e * WAWRA TR Rolle’s Torsmafh

. - 3x ‘ : Tt
A,  FEOT TE TG 5 S¥SSE B. (U7 '@ TWH 0<x<3
C. ST TRWA0<x<n D. m?éﬂw{f sx<Z

d d |
20, ﬁw%nﬁyﬂWMﬂwwm

A. (A+Bx)e* B. (A+Bx)e®™ C. (A+Bx®)e¥* D, (A + Bxt)e¥

30. Wix2+y2=4 m_.mygxx +x=

A 4 B. 0 Lo A D. =1
xodx
31 1+28 ~
A 4dtan! P +¢ B. %tan"‘xﬂc.
C. x+4tan'x+¢ D. x3+% tan! ¥4 + ¢
16w
31- fI“Sinxdx=
F [
A 0 B. 32 C. 30 D. 28
16

gcollegeduniaa
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37.

38.

39.

2
y=x‘-§ +(%)WM§W@WW
A L1 B. 2,1 C. 4,1
_ ] 0 ,x=0
f(x)_{x-%,xbﬂ
flx) SCAHSMH
A TNEH FTx2>0

B
C. x=0=gs g sad) |
D. x=0R%o 580 ¥, OiF x > 0 97 BT FIETAS 7Y

fx) = ax-+ b S TN AN 303 AW (TN x 27 IR 2

A a>0 B. a<0 C. a=0
cnsb:dx:
COs X

A. 2sinx+logisecx+tanx|+C B.

C. 2sinx—loglsecx+tanx|+C ‘D.

l’ sin®x — cos®x e
1 — 2 sin®x cos®x

A —%sian+C B. -;-sinh:-!-c C. %-sinx+C

m@ﬁﬁhg‘(ﬁﬂ=x+ywmwm‘{?

A e+e¥=C B. e&*+e'=C C. e&+e*=C
_A : 8

'ﬂﬁ)’-x+312@,mx2dx2_ )

A 2y B. y cC. ¥

17

1,4

a<o

2sinx—loglsecx—tanx |+ C
2sinx+logisecx—tanx |+ C

~=sinx+C

e*+eV=C

P.T.O.
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9% 1 97 936 IWAS TE o TN, O}

1 1+0? o
¥-1 ol Fsl L '
S WS

A e B. i L= 1 D. 0

4 OF T 3 2 OF Tt AT I 9IS Neh T O W | 9 wEw yio et
AT IR STBIRAT 3

1 1
A, 5 B, 2 .

L | =

4D ST AT I B B 77 | W AU AP BT B T O 5N B (30 Holg STORA
7]

1 1 1 1
A. 16 B. 2 C- 8 D. 4
e’X + ¢f .
o 9 R 1" a3 s 2=
gn-1_¢ _9oyn-=I n-1_29n-1 __An n "\
A (—2) 5 4 20 c. 4n_2 D 4" +(-2)
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